GYMNASE DE BURIER MATHEMATIQUES
Fractions rationnelles - Solutions 2C
Question 1.
3 zy3 ox 2+ 3z 2 x—3
1) 3 4) - 7) 5 10) 5 13) 3 16) 713
2) 5) 53 ) 3 1) 53— 14) -~ 17) 4—z
5 7 r+4 +2 r—4
3) 5 6) 5 9) z—y 12) —— 15) —xx 18) ——
Question 2.
4 a2+ V-1 . (@—1)—2) (z —1)?
U3 ) 5 ) St 13) =3
2 2 6) (x— 1)z —2) 10) 14) (z +2)(z - 3)
rz+1 1
3 T 3 1
g z(x +1) 8) 7 12) z(x?+z+1) 16) 2%
Question 3.
7 x+2 x(z +5) 2 —z+1
V1 ) @ DE-0 ) erDe-12 D a1
4 5 1 g e t10 g T2 46 8)2(:”_35@)(‘7"_3Jg
D016 (v +2)? . (- 1)
Question 4.
z+6 2 5) 1
Y ero@—2) P Py )
1 5
2) z(rx+1) 4 Cx(r—1)(x—2) 6) (x 4+ 4)(x +2)
Question 5.
1 - 1 (z +1)?
1 2 4 z(z+1) 6) x+1 9) 44
2) 20+ 7 7 x 0) 12
z-5 9 z(x+1)
3) 2(z —5) 5) z“ 4+ 9z + 10 ) 2(z —5)
3z(x +5)(a? — 22+ 4) 2(z + 2) 3(z—2)(x+2)
Question 6.
1) S={1} 2) S={-5} 3) S={2} 4) S ={-3} 5 S=10 6) S=10
Question 7.
1) S={-2} 3) S=0 5) S ={0} 7)8=10
2) S={1;2} 4) S ={-3} 6) S={-2} 8) S=10







